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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Each individual ______ help to stop pollution of the environment.
* must
* may
* dare
* might
Correct Answer :-must
2)
Question Stimulus :-

Fill in the blank with the correct option.

I___ caught the bus if I had hurried.
® could have
® can have
e cannot have
* could not have
Correct Answer :-could have
3)
Question Stimulus :-

Fill in the blank with the correct option.

You introduce yourself; he might not remember you.

e should



®* can
* could
°* may
Correct Answer :-should
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Voting took place peacefully most of the country.

®* across
®* besides
* into
* for
Correct Answer :-across
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

They walked slowly the woods.
* through
* under
e above
* for
Correct Answer :-through
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

The author's wife was a good editor,

being a great writer herself.



* besides

* by

e with

® on
Correct Answer :-besides
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

Heismuch__  me _____ rank.
* between, in
e with, for
¢ into, for
e below, in
Correct Answer :-below, in
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e I have a life insurance policy that will take care
e of my family
* if disaster strike.
®* No Error
Correct Answer :-if disaster strike.
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® The UN have withdrawn

® its troops

e from the country.

®* No Error
Correct Answer :-The UN have withdrawn
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If it had snowed yesterday,
e the boys would have
* definitely gone for skiing.
®* No Error
Correct Answer :-No Error
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Her car went out of control
¢ and strike an
® oncoming vehicle.

® No Error

Correct Answer :-and strike an

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ A lot of shops won't accept cheques,
®* unless you don’t have
* a banker's card with you.
®* No Error
Correct Answer :-unless you don’t have
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

e As soon as we will get

o the tickets,

e we'll send them to you.

®* No Error
Correct Answer :-As soon as we will get
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e A home computer is one of
* the most important inventions
e of our generation.

® No Error



Correct Answer :-A home computer is one of

15)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
e Mr. Roy’s youngest son
* is fond of
e playing a harmonium.
®* No Error
Correct Answer :-playing a harmonium.
16)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Jack said, "I bought this pearl for my mother.”

* Jack said that he bought this pearl for his mother.

* Jack said that he bought that pearl for his mother.

* Jack said that he has bought that pearl for his mother.

®* Jack said that he had bought that pearl for his mother.
Correct Answer :-Jack said that he had bought that pearl for his mother.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Please give me something to eat. I am hungry” the old woman said to the boys.

* The old woman requested the boys to give her something to eat and said that she
is hungry.



e The old woman requests the boys to give her something to eat and said that she
is hungry.

* The old woman requested the boys to give her something to eat and says that she
is hungry.

* The old woman requested the boys to give her something to eat and said that she
was hungry.

Correct Answer :-The old woman requested the boys to give her something to eat and
said that she was hungry.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, "I can speak four languages”.

e He boasted that he will be able to speak four languages.

* He boasted that he can speak four languages.

* He boasted that he would speak four languages.

* He boasted that he could speak four languages.
Correct Answer :-He boasted that he could speak four languages.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Will my uncle pay my tuition fee?
e Will my tuition fee be paid by my uncle?
e Can my tuition fee be paid by my uncle?
e Should my tuition fee be paid by my uncle?
* Would my uncle pay my tuition fee?
Correct Answer :-Will my tuition fee be paid by my uncle?

20)



Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

By whom were you given these orders?

* Who gave you these orders?

* Who has given you these orders?

e Who had given you these orders?

* Who was giving you these orders?
Correct Answer :-Who gave you these orders?
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The fields are being ploughed by the farmers.

The fields have been ploughed by the farmers.

The farmers have been ploughing the fields.

The farmers are ploughing the fields.

The farmers have ploughed the fields.
Correct Answer :-The farmers are ploughing the fields.
22)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
* Romila is wearing a black and white saree.
* Romila is wearing a black and a white saree.
e Romila is wearing a black and the white saree.

e Romila is wearing an black and white saree.



Correct Answer :-Romila is wearing a black and white saree.

23)
Question Stimulus :-
Fill in the blank with the correct option.

He didn’t earn much money, and he gambled away ____ he had saved.
o little
* a little
* the little
* some
Correct Answer :-the little
24)
Question Stimulus :-

Fill in the blank with the correct option.

Thereis____ time to prepare for the exams.
o little
°* few
* the little
* afew
Correct Answer :-little
25)
Question Stimulus :-

Fill in the blank with the correct option.

I have money, so I will be able to lend you some.

e little
e a little

e the little



e afew

Correct Answer :-a little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self-indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

What is the meaning of the word ‘legacy’?
®* A sad or disappointing news.
e Bankruptcy or misfortune.
® Money or property left to someone in a will.

e None of the above.

Correct Answer :-Money or property left to someone in a will.

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self-indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.



What would be the synonym of the word ‘stride’?
® Retreat
® March
e Delay
* Wait
Correct Answer :-March

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self-indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

What is the meaning of the proverb ‘diligence is the mother of good luck’?
e If a person is born in a rich and aristocratic family, he is considered lucky.

e If one works carefully and constantly, one's chances of being successful will be
much greater.

e Bravery brings good luck.

e None of the above.

Correct Answer :-If one works carefully and constantly, one's chances of being
successful will be much greater.

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.



It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self-indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

According to the passage what is the most important thing for success?
* Hard work
®* Only luck
* Noble parentage

e All of the above

Correct Answer :-Hard work

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions that
follow.

It is not luck but labour that makes men. Luck says an American writer, is ever waiting
for something to turn up, labour with keen eyes and strong will always turns up
something. Luck lies in bed and wishes the postman would bring him news of a legacy;
labour turns out at six and with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self-indulgence; labour strides upwards and aspires to
independence. The conviction, therefore, is extending that diligence is the mother of
good luck; in other words, that a man’s success in life will be proportionate to his
efforts, to his industry, to his attention to small things.

Which word in the passage means ‘to complain or express disappointment or
unhappiness repeatedly’?

e Whine
e Keen

® Aspire



e Hammer

Correct Answer :-Whine

Topic:- Hindi
1)

Question Stimulus :-

FafafEa T @ aFYde Tew] I A i T sgfawadt uxAl ¥ Tdt fawer &1 aae w)

* JARFfdP UG
o AT ¥ e &1 3
* AHRI® TRPR

Correct Answer :-S9dT & diied &1 3rf

2)
Question Stimulus :-
i T o aFYde Tew) e A R T sgfawadt uxAl ¥ Tdt fawer &1 age w

W%Wmmmaﬁmamﬁeﬁaﬁmﬁmqﬁ%wﬁwaﬂﬁ frwar dran
A 3R Aid@t g Uit & UYH w9 A1 IR F mwﬁmméﬁélm CaR IS ALY
gadl IR 8 P T F fIu, 39 feud & un & forw forgeT Ja=m aifgw & W?,Wmuaﬁ
I It po R Bt ?1 98 RUfd & Sut Ruan, ST 99 ¥ Aipfae TR @, S9fe aied

I Tipiad TRPR 8, AFRI® TR 31



o T A PIS A&
Correct Answer :-Tiwpfae U9 fAfga g

Frafafad T o wryde yeer 39 i G T sgfawad uxAl A 98 fawen &1 9ua S

a1 & gifged &1 T 3 82

Question Stimulus :-

3)

* Tipfad UTEl B U Pt J&H UgaH

. giplae avserR o ARG & g w5+ aren difed

o AFRT® U R &t fRUfT &y $31 aren 9iig

o Iugs |l

Correct Answer :-3udad 9

i T @ aFYde Tewr e A i T sgfawadt uxAl § wdt fawer &1 aa w
o A JHF 3T ST

Question Stimulus :-

HIfeeT T 1 Iex4 82

4)

Tipfae iR AFfye TR



o fram

o T A K T
Correct Answer :-Ui&pfa® iR aFRe TR
5)

Question Stimulus :-

fFafafaa T & wFYde ded] I A f3d T sgfawadt uxAl § T8t fawer &1 aae B

W’mwmﬁmﬁmﬁmmﬁmﬁmqﬁ%mﬁm@mﬁ
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8

Hipfad Wal S 501 $A & g ;a1 o= § 2
o FH arat FI Rram
* g A & Wivplaw TRepr
* A T F AP UIRPR
o Iuaa At
Correct Answer :-3ugad 9+
6)

Question Stimulus :-

fFafifEa 1o & AFyde dga S A 3 T agfawadt u=xAl § Wl fawer &1 9949 &1

$0 W 99, I9 SR 7a ¥4
3IPR AR, UeH Hd q1,

A 31E APd UTE,

7o Wl 99, I SR |d §41
A- B SfT, T o 2
P9 dF TH & 3ATg T 2
HTHqar A diar gae!



g1 gl a% G U

PO A Hm? foar Hm-

I AW T PR He?

$0 Wl 99, 9 SR "Ha 749
‘I% 3, B o9 UnR,

¢ 7 gets fis hav |

a1 a1 sftq Wifd & sa wR,

T AR 9Y TH T !
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79 Wl 99, 99 SR 99§41
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® T

Correct Answer :-urgqd

7)
Question Stimulus :-

fFafafaa s @ wFYde dga? SHd A G T agfasadt u=Al ¥ Agt fawen o1 9g7 s



7o Wl 99, 99 SR |4d g1
BIPR R, UeH Hd HIYI,
¥ @ Apd uTE,

7o Hl 99, I SR |d g1
A- B SfT, FaT Sfi= 2
$9 d@ TH & 3A1g T 2
ATHTaT A Hiar gast

g1 gl a% G U

PO A Hm? far Hm-

I AW T PR He?

$0 W1 99, a9 SR °Hd 749
‘I o', B o9 UnR,

¢ 7 gets iz e |

a1 af sid Wifd & 99 R,

T AR 9Y JH T !
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o Wl 99, 99 SR 99§41
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ug fiedr 8, a8 saT 3,

g I B 98t drd @t
3T H Jdw A @,
PR A ¥ DI ATH FHYUI|

70 Wt 99 99 SR 7a §1

#fd fPT UpR & Sfiaq &1 sfia= 78 a=ar 2
o FA-UHI I8 aren Sitad



o 3T 9 ®A gt sfiaq
® T&T 9 B aqrel Sfiaq
o o IHT S aran sfiaq

Correct Answer :-a ¢&v S arar sfiaq

8)
Question Stimulus :-

fFafifaa ST & AFyde dgat S A 3 T agfawadt u=xAl |§ 9l fawer o1 9949 +¢)

79 Wl 99, 99 SR |4d g1
3IPR AR, UeH Hd q1T,
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$0 Wt 99, 9 R 9a a1
A= B SfT, FaT SfiAT 2
9 aPH T & 3Arg A1 2
HTHqar A diar gae

g1 gl I G U

PO A HaN? far Hem-

I U9¥ T PIaR He?

7o M, ST FRR d a9
‘IS 3fe, Pe W9 TR,

¢ 9 gars fis hRav |

1 df sid Wifd & 99 R,

T AR 9Y TH T !
vfafdan +ft gderar 3,

TR HTARdT SRS a1
$o Wl ¥4, 99 SR |99 §41
AR T T AT,

YR oRT AT SIS !

g fiedr &, 98 IaT 3,



T8 I & e v @t
U HY AT A B,
PR 7 gF DI 3T YT

P9 Wl 9 a9 SR °d T

®fa 7 iftre ufex fFa w18 2
* Uled
* PHIGRAT
* hgd
°* TR
Correct Answer :-&/adl

9)
Question Stimulus :-

Frafafa s @ AFyde year 39 i o T ggfawad uxal § I8 fave &1 99 +|

7o Wt 99, 9 R 9a a1
BIPR R, UeH Hd HIYI,
¥ 1@ Apd uTE,

70 Wt 99, 9 R 9d a1
A= B SfT, FaT S 2
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HTHqdr A diar g

g1 gl a% G U

PO A Hm? foar Hm-

I AW T PR He?

P9 Wl 99, a9 SR Ha T4
‘I% 3, B o9 UNR,

¢ 7 gers fis e |



g1 af sitd Hifd & a0 wR,
T AR 9Y TH qHT !
vfafdan +ft gder 2,

R ST e ara!
70 Wt 99, 99 R 9a a1
A% &M BT A A B,

TR AR TG AT B!

g fired ¢, 98 TaT 3,
€ T B & a3
3T HR JdE A B,
B 9 ¥ DI ATH THYUI|

$0 Wt 99 99 R 7d I

‘PO T HUN? U1 HIM-Y T 99 HTaR e’ Ufea § SI9-T1 UG TS 22
o fAfSraar R W@ HA B
o HHUYY YT AT g P YU HT
o gremail B Q¥ HR M Tg BT
o fORTIN ARTH THA T{A PT
Correct Answer :-fAfSsadr IR &g &34 &1

10)

Question Stimulus :-

FafifET ST &) AFyde dgat S A 3 T agfamedt uxal | 9@l fawer 1 9949 +¢1

79 Wl 99, 99 SR |4d §41
3IPR AR, UeH Hd q1,

o 18 Apd UTE,

$0 Wt 99, 99 R 9a a1
A- B SfT, FaT ST 2



9 dF TH & AT T 2
HTqar A dar gas

6T N aP g g

PO 1 HaN? fHar Hm-

I A 99 BIaR $e?
70 W1 99, a9 SR 4d T4
‘I oY, B8 o9 R,

2 7 garg e W !

g1 af sitd Hifd & a0 wR,
T AT TY TH TR !

i oft gdeman 2,

R PRRAT it SuTa!
7o Wl 99, 99 SR |d g1
A e HTA A B,

TR AR AT HT 3!

g5 fear 8, s aaT 3,

g 9 o et did gt
3T HR TdE A B,
PR 7 gF DI T YT

P90 W1 99 a9 SR 9 T

Ffd fa R g9 oo guffa #1 & forw @ w1 32
s PR
* PR W
o AW
* HHI W
Correct Answer :-41d I

11)



Question Stimulus :-
" e § R ST 8-
o Jifa
* I
* 3
* 3[g
Correct Answer :-3ifad

12)

Question Stimulus :-
fra & @ e wreg A 3¢ U 82
* g
* WA
o 3ufax
o A
Correct Answer :-g¢1H
13)

Question Stimulus :-

“ 3" Uedd TSR 1T TT e 5-
o dfem
o ifam
o g
o 3ftgme
Correct Answer :-30gmsd

14)
Question Stimulus :-

vg3RaT” T § Uged Uy ®-



* TP
® =d
° =
. §
Correct Answer :-341

15)

Question Stimulus :-

it F1 f9are FF 3o & Arar-fuar e I a1 fore | Y@ifed geaw & o 8-
o &rd § fgw g
R ICERREIE
o ff & forg S
o T A T T
Correct Answer :-&1d & fAga g1

16)

Question Stimulus :-
'$q BT diq g YeTak BT T 3 8-
e 3¢9 fF fRw &
* 9 Ed Yo¥ B
o =N gy g
o Iudaa Tt
Correct Answer :-gxiq ga¥ g1

17)

Question Stimulus :-
HTYT 1% AT geTax &1 dat o g-

o igT g1 W RR ussH do1



o gHeT A amiT BN
o dFargd® HRf B
o TP F RO g
Correct Answer :-3gf»®dl & SR §@l

18)

Question Stimulus :-
o T Y & T U Weg P WAt Hifore-

* TS
o FHfAW
* DI
e AR
Correct Answer -

19)

Question Stimulus :-
e T ar & e U@ et 1 yE Hifre-
ot I & faeg ST I AAaM & forw fvar T siigie T s 3mug”

* JAUIE
o g
. suftE
* gedld
Correct Answer :-drlg

20)

Question Stimulus :-

A dfemal & s19-a1 99 7 2

“rag ¥ fovy Tgdig, R fanfies was s



if¥res Wifd 71 T e, 9 =R v wfed wer 17
. g
° Td
o HRoT
o e
Correct Answer :-diUrg

21)

Question Stimulus :-

o dfmd Bia-a1 e 2-

“Afg IR A AYR 7Y, F A 3t Fr
(el et | Jedl, S P gardll”

o gral
* WRaT
* T
* JIWY
Correct Answer :-aigl

22)

Question Stimulus :-

TdeA v forad wa feAie forem &1 e d @ $19-a1 yoR 9%t 8-
o IR REawR, § TOIR Wide
o 4 ffawrR 2016
* 04/09/2016
e IR RawR, 2016
Correct Answer :-04/09/2016

23)

Question Stimulus :-



g ¥ ¥ 3z ad+ &1 99 Fife-
* 3IYHA
o gui
* =&
. amfiRa
Correct Answer :-3ffgd

24)

Question Stimulus :-
oo T SR Tl &1 T4 BIfoe-

Correct Answer :-3dd

25)
Question Stimulus :-
3rer ft URa ¥ yaur $UR T B9 81 91 | Y@ifea s A I 8l

® YIqdI$

Correct Answer :-9Ifddara®

26)

Question Stimulus :-
WA WRd B AP 2-

] EUST



Correct Answer :-3a=anrt

27)

Question Stimulus :-

fra & & g o1 yatgart 75 &-

Correct Answer :-Rrdig@

28)

Question Stimulus :-
Re' e A @ fae yafgard -
o TfOrenT
e fu
o HftrPHT
o T
Correct Answer :-faw

29)
Question Stimulus :-
"IER’ BT TOH g -

o iR

o 3efR



° 9

o U | BIg TE
Correct Answer :-3{R
30)
Question Stimulus :-
RIETHT BT ToGd e 8-

A4

® 9y

.

o iqgenm

T & P

Correct Answer :-3drs

31)
Question Stimulus :-
‘Frsem o1 iy fawde 8-
o Fg+o™
o fg+om
o Au+am™
o f+®dm
Correct Answer :-f:+®m™
32)
Question Stimulus :-
‘g fa Ify &1 IerRu 82
o WX Iy
o hud Wiy

o fowfwfy



o IqUT JfY
Correct Answer :-fagit €f¥y

33)

Question Stimulus :-
T § SH-91 T 87
® T+ 3fhT=TAHT
o F+FHI=AATAHT
o F+IHI=TRAST
o T A IS Tl
Correct Answer :-A+3®T="1®T

34)

Question Stimulus :-

- fafea 6 arei=i & yuw g sifaw fifda §, A9 @1 S w0 A sgafRua Fifme-
(1) < safqa

(T) ANT-ATYAT BT §, A

(}) T9-99 & =

(@) A I Hfes 78 AR B, sruf
(@) 9+l veR ot fifgar ot e
(6) Tt fufgat Gesragde® fira et 81

® gXdd
* XYdd
e Xqu Y
e gqddX

Correct Answer :-=¥9dd

35)

Question Stimulus :-
fru fafea 6 araai=n # wyw g oifvw fAfda €, A &) Sfaa w0 o wafRa Fifcre-



(1) dfaum &
() fafkrg agaa &
() S Sft FRIRY & &) wovar @
(@) I Fe A
(T) safF weE favas
(6) U &R faar s
* ¥I3YT
* ITTX
* IT|Y
* gAIX
Correct Answer :-33d@ 39
36)

Question Stimulus :-
g @urs # S 91 PR 22

"fog ug wag, g fag e
o fag o, ® Al aEnn

o fRYUTHT

Correct Answer :-fquma-n

37)

Question Stimulus :-
“qHg wfHg Mfd-ura snepfa sraad” ufea # #i9 91 SiaeR 82

* U

. Y



o Ide
e IUHT
Correct Answer :-3d&

38)

Question Stimulus :-
o § 9 ogs arew oifee-
* UTg: THT S T
* IR & FF 3T Fd
I TwP QI
o TR A HIE W T QT
Correct Answer :-giR § $I3 HTH gl gl
39)
Question Stimulus :-
o § & sy arew oifee-
* M, d&A 3R Hia1 & BT T
* M, WEHUI 3R HiaT 7 &Y MY
* W TF T
o W 3R A&HUT T I
Correct Answer :-3¥, &qUT 3R a1 99 F TS|

40)

Question Stimulus :-

A dfeal ®1 e Sifee-

wmﬁwﬁaﬁ%wenatﬁ é’,?ﬁ 30 | R el FEA # 8 aman) ow Wit F -

TR T B, Safd

P 34 H BIS .
d18d ¢ & % ol IR amﬁau’rwmﬂ | SIgf HIFG - THTG 3T 1o fAudld g1 @RT U= Myt
gar g aﬁ'\rmﬁmmmél f &Y Wt =T 3ma 3rerft #t srea B

* gl |Ig 98l I1E



o TSN ST H =en 171 7 fAferan w5
* USPHI-ASH! Tbh HH
o U | BIg TE
Correct Answer :-§371 5l 3@ § =erm §=71 7 fAferar #1

41)

Question Stimulus :-

T | PH-91 fdpey a1 i1 fapeul & gt avg e 7 2
* 3N
° 9 Y
e T
o WSt
Correct Answer -

42)

Question Stimulus :-
e & & A g o1 AP Treg 1 B-
° WY
o =T
* W
e g
Correct Answer :-@¥

43)
Question Stimulus :-
iefea’ & forg fawi wreg gim-
° MY
o 3miefed



o galaIRd
* TH I DI T8
Correct Answer :-gdardned

44)

Question Stimulus :-
SR P faaw 39 4 L @-
o JFIUT
* e
o ey
[ ] W
Correct Answer :-8itq

45)

Question Stimulus :-
3 faudtards wegl & ot frw e &1 Wb e @2

o T fag
o fawmaife e
o IrcufeRm™ frg
o JeffoRy frg
Correct Answer :-U5i& %

46)
Question Stimulus :-
THHTE! HETHTd & TRl B 8-

* SUYH UHIG

o Jrarf fRMMATR

o AfRYAIRRUT T



I S S —

Correct Answer :-3Marf faemamrR

47)

Question Stimulus :-

o dfea d P-wT R 2

“frawd $Te gg=a Sadl

AT $9P g & S farg ysikd uraan”
o 3gyd

LR

R 39

e a3
Correct Answer :-didded 39
48)

Question Stimulus :-

"R THTHAS DT T§ HYF f5d 9y &7 32
o HTCUxIA

et ATed guur

wifged gdor

o YR UHT
Correct Answer :-31fgd gdur
49)

Question Stimulus :-

CANCELLED

“ifify yarg” 91 % TEATER 8-
e JTUufa

] Q{q’u’[



* Y[NQ

o ATHTE
Correct Answer :-4qH¢g
50)

Question Stimulus :-

Jtar I "urfed “URT YT’ GURER UF BT YHIRE $d ARY fomar mar-
* 1853
e 1873
* 1887
* 1863
Correct Answer :-1887

51)

Question Stimulus :-
“IRAt B AT ATEd F AGD DI 82

o ggrad o auf
* YW ARTU UTUSY
* PHANHG T
o AT IER Yo
Correct Answer :-g<ra- @@ qat

52)

Question Stimulus :-

g vl & TEt SW P19 PifvTe-
“He 9191 & Y | MY, I9 W &7 93 a1~

® JTPIRA
® ORI

® 3ar



[ ] w
Correct Answer :-dR1

53)

Question Stimulus :-
g TRl & T SR T T4 Fifore-
“Helk HUX HeRl, deT 919 F Y mR11”

o TifT«
o HYUT
° dd
* 3MH
Correct Answer :-1Rad

54)

Question Stimulus :-
g gRT T & 3RIY & SMMYUR IR o1 P faq U # aier war 82

o a
o =
* I
* IR
Correct Answer -9k

55)
Question Stimulus :-

ST+ T+ T+ 3+ G+ 3+ I + T + 3 PN YLS a1l HETOr gAm-



Correct Answer :-3mgfad

56)

Question Stimulus :-

o & A F1€ o gm wwEia 78 8, 797 SiRe-
* JUBR-ITER
o IFRM-3fR™
o J3ig-ifaw
o JfHHAF-SAfHIH
Correct Answer :-3id-sifad

57)

Question Stimulus :-

e U & Tee-gH & ad-%g A A B A1 T 22
o IHY-IHT = frfwar-g=t
o IJNG-IANT = NG BT AUTE-SI AST 7 o b
o IR-3rIf = RFpSt-arg aren
* JA-ITATT = o § AT AHI-[e= & A A=
Correct Answer :-3Md-31aTd = ¢ § AT AF1-faq=r & Arer Ao

58)

Question Stimulus :-
A 9 ey s & FHFAT Teg 1 I Fifore-

.a’&'q’

Correct Answer :-dlsT

59)



Question Stimulus :-
Frufafaa o & 9 YEifea e & Fumrdf e o1 997 Fifon-
Y A IGUT T WER fHar1””
* Tl
° HAMM
° qY
o faumr
Correct Answer :-3¥

60)

Question Stimulus :-
TWRiY &1 I9 faug ghm-

o 9 Riys &1 IYE
o gra Riyasit &1 8 ot 9qE
o Jra ? fRiy
o Tra Riysit arem
Correct Answer :-91d Riysif &1 99z

61)
Question Stimulus :-
‘FHIffad’ g f5a U BT 3aTeevr 82
* PHYRM WA
o TUEY AN
o ggdiife gu™™
o JOdIHTT HH

Correct Answer :-ddd&yq ¥q4™

62)



Question Stimulus :-

PN e fPH THTH BT IS0 872
o ggdife gu™

FHYRTT THTH

TYEY N

o IIYHTT TH
Correct Answer :-GHURTT THR
63)

Question Stimulus :-

TS’ U fhd THTH HT 33801 82
o AU THN
ggsiife wura

dE=Y YA

* FTHYRN U
Correct Answer :-3gsife G99

64)

Question Stimulus :-
“ag d%d UR T 8 § SI9-91 9 82

o oH ar=
* YT A
P ared
T A BIS 1A

Correct Answer :-&q arsd

65)

Question Stimulus :-

&S wifeca &t yyw wer 8-



* UHITR
o gmafd
I Fad! I Her

Correct Answer :-s=Hfd

66)
Question Stimulus :-

‘On deputation’ e BT 3 g-
o frgea s
o TYF HAT
o Jfiged WX
o yfafgfaa w
Correct Answer :-ufafgfaa @«
67)
Question Stimulus :-

CANCELLED
*Headlong’ Reg BT 3 8-

o w1 RR

o fomr WY fOR ssast &

o Td WHY TG

e RRF 5w
Correct Answer :-f391 IR foaR geadt #
68)

Question Stimulus :-

' STa-sTd & UTd-uTa’ dpifad o1 ot o 82
o N fag=



o I deaw
* TP { Tgpe TH
* TP q TGHX GORI AraD
Correct Answer :-T& ¥ S¢&H gl d1ATd

69)

Question Stimulus :-
o fawedt A @ argw & e Iugea didifat &1 9= Hife-

o T & ds AfRIg d&
o firal 9 St argarst A Wit
* T % gR R ¢ A9 & itd ofid
o T A K T
Correct Answer ;-394 ¥ 1§ T8

70)

Question Stimulus :-

T A {9 9d gRM, T YT Al et @1 @ o 82

* UIYT & 3HTG BT T
o fom 58 g yarg
o fomm W wH
o gar T
Correct Answer :-9149 & 3T BT TgHI

Topic:- General Knowledge
1)

Question Stimulus :-

Kangra valley is situated in the state of / HITSI Tt A Y ¥ fRy«a %:

® Rajasthan / ST



® Himachal Pradesh / %Wm

® Arunachal Pradesh / 3®UIRIA 'FI%EZT

® Uttar Pradesh / WD%SZT
Correct Answer :-Himachal Pradesh / @0 U=
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: : I fau U

Pl & YR TR el SR T 999 B Td fHan:

List-I List-1I
1. Sikkim a. Agartala
2. Meghalaya b. Imphal
3. Manipur c. Shillong
4. Tripura d. Gangtok
gfa-1 gfa-11
1. fafeen a. 3FRden
2. AU b. HBTA
3. AfogR c. Rraim
4. g d. s

® 1-d,2-c,3-a,4-b

® 1-d, 2-c, 3-b, 4-a

® 1-c, 2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

Which is the largest animal in the world? / g'ﬁ'CIT Ca) wﬁ d3T SildR aﬁq %?

® Blue Whale / el @9



® Camel / &
° Elephant/ETQﬂ'

i Hippo/?,'ﬁ'q'fg'EﬁST

Correct Answer :-Blue Whale / leil &9

4)
Question Stimulus :-

The dam that is located in Bhopal, which helps in controlling water from the Kaliasot river is called / ai'u, EIRTLIGE:

fRa iR wieraraia =t 1 Uit Frafa w3 § were
® Bhadbhada Dam / HGHGT 91Y
* Sanjay Sagar / Iog AR
® Rampunkhund Tank / JAYAES dTeATS
® Pechsari dam / ﬁsw Y

Correct Answer :-Bhadbhada Dam / HGHGT di¢/

5)
Question Stimulus :-

What is the largest internal organ in human body? / HIFd IRR H g CE] TR [T P T 87
e Large intestine / 93! 3ifd
* Kidney / ﬂ'c.'f
® Heart/ ®ad
® Liver / 99d
Correct Answer :-Liver / I&d

6)
Question Stimulus :-

Acid produced by ants is called . | difedl gRT ScuTfed 3R I HeT oAl %_I
® Formic acid / BITH® 3T

® Folic acid / BT 37



® Nitric acid / qﬁﬁﬁ SR
® Acetic acid / Qﬁ’lm 3T
Correct Answer :-Formic acid / BITH® 3T
7)
Question Stimulus :-
Where is Badrinarayan Temple located / TEITY R WT Ry %
e Uttarakhand / 3TIRTHEUS
e sikkim / Rifepa
e Bihar / ﬁ'@'ﬂ'
® Haryana / Eﬁ'qTWT
Correct Answer :-Uttarakhand / 3TRTEUS
8)

Question Stimulus :-

Arrange the following from west to east and select the correct answer from the codes given
below:

1. London

. Lisbon
. Frankfurt

2
3
4. Beirut
/

frafefad @1 ufdm @ gd 1 ok sraf®rd o3 & 2 i 1Y dddl & gR1 96t SW a1 99 $Y:
1. ded

2. forea=

3. W

4. =d

e 1,23,4

e 2,1,3,4



e 2,1,4,3

° 1,2,4,3
Correct Answer :-2,1,3,4
9)
Question Stimulus :-

Which of these rivers originates in India? / frafafea d a Cack:i| qé’t BT SgH RITH HIRd %?
® Tigris / fenfva
® Brahmaputra / S§Iqd
® Hwang Ho / ET'T E?f
® Mahanadi / TI?'FIEPF

Correct Answer :-Mahanadi / HgT-al

10)
Question Stimulus :-

Who was the other person along with Malala Yousafzai was awarded the Nobel Peace Prize 20142 / HEITCIT g'ﬁqﬁli tg

-1 I 3= e B & g Aaa ifd RBR 2014 & A4 TG fBar 17 412
* Kailash Satyarthi / Famr "
* Jean Tirole / S feiat
e Patrick Modiano / U@ wifsemt
* Eric Betzig / TR® afemt

Correct Answer :-Kailash Satyarthi / &ar=r Jaanf

11)

Question Stimulus :-

In which river would you see the Anaconda? / ﬁ"}f s ﬁ f&a T'Iﬁ o Eﬂ'ﬁﬁ?ﬁ TR SiTd % ?
® Amazon River / 3o 4}
® Yellow River / A&l qﬁ
® Nile River / =ﬁﬁ qzﬂ



® Indus River / ﬁ"ﬁ}[ Tt

Correct Answer :-Amazon River / 3T E |

12)

Question Stimulus :-

The Hirakud project is on the river / SIRTPS UNRASHT 39 ! W 3:
« Mahanadi / HgHdl
« Godavari / Tgrat
e« Damodar / SMIc?
. Sutlej / Faad
Correct Answer :-Mahanadi / HgHd!

13)
Question Stimulus :-

Which of the following cities is called Golden city? / ﬁ'H 7 ?ﬁq 1 U Mesq Del Sldl %?
® Jaipur / SIYYR
® Amristar / {ddX
* Kanpur / PTHYY
o Jaisalmer / ITTAY
Correct Answer :-Jaisalmer / STIAHR
14)

Question Stimulus :-

Which among the following is the largest Tea growing country? /

e & I 2 waH SareT =99 YT S aren oF 7
® Australia / a@ﬁm

® Russia / ¥

® [India / HIRd



e China / ©F
Correct Answer :-China / 99

15)

Question Stimulus :-

Which of the following pairing is correct? / ﬁ?ﬂ%ﬂ@?—r \_rﬁ?ﬂ' | P w %?
® Reindeer - Indian and Arabia / mﬁl‘ﬂ - YRd 3R 3R
® Kangaroo - Siberia / HIE - ?ﬂgﬁﬁm
® Llama - South America / <THI - E'%'UT 3AR®T
® Yak - New Zealand / 9T - ?Fﬂa%'

Correct Answer :-Liama - South America / TTHT - gf&ror 3mRaT

16)
Question Stimulus :-

Which sporting event would you associate with a distance of 42.19 kilometres? / 3{TU 42.19 fpanfiie §'\FT & a1y

fora @a uferaiRTaT @1 Jas 312

e Marathon / AU

® Tour de France / g 81 Wi

® Formula One racing / BTHAT a7 ¥R

* Relay race / RASrs
Correct Answer :-Marathon / ARTYF
17)

Question Stimulus :-

Joshna Chinappa is related to the game of ./ <ityr REar ------ T/ A HaRa B
®* Hockey / HEdl
® Squash / W
® Tennis / o
e Badminton / dsficH



Correct Answer :-Squash / &%

18)

Question Stimulus :-

Against which team does Australia play the Ashes? / & & f@aw Gﬁﬁm 3 @Trl' Qe 2
* South Africa / ISY 3HIHT

e England / 3738
® West Indies/ % 3'%“[

® New Zealand/ qﬁﬂa?i

Correct Answer :-England / $7ds

19)
Question Stimulus :-

Who was the first sportsperson to be awarded the Hridaynath Mangeshkar Award? / @QU-TY TR TITPR =

I Ugd fEarst &9 ur?
e Vishwanathan Anand / RgATY= 3+g
* KSrikanth / & #fi®id
® Sania Mirza / ifrar st
® VirendraSehwag / 1% WgaNT

Correct Answer :-Vishwanathan Anand / fQgaT4= 3Fc

20)
Question Stimulus :-

Where did Sachin Tendulkar score his 100th century? /ﬂﬁF‘[ ﬂgﬂw 34T 10097 AUdD ﬁ‘f STHI™T 41?
® Australia / GﬁﬁﬁlﬂT
® Bangladesh / W?I'I%QT
® West Indies / T 3_\'-‘;:'\_!'7

® England /g“ﬁ:"{



Correct Answer :-Bangladesh / STETGRT

21)
Question Stimulus :-

Finance Commission is appointed after every years. / Gy a¥ &

vy e amanT Y Frgfd &t 21
.« 6

o 7
e 2
e 5
Correct Answer :-5

22)
Question Stimulus :-

“Connecting People” is the tagline of which company / “&facT Hiua” f&ar =i
T YOR 91 8?2

® Motorola / HICRIdT
* HTC / TIRe

* Nokia / T

° Samsung/w

Correct Answer :-Nokia / FIfpar

23)

Question Stimulus :-

The first women to be elected from a former Princely state of India as a member of legislative assembly and born in

Ujjain./ WRd @1 qd Fraraa | faum st o Sewa g+t 701 uget wfgan == & der g€ a9
 Kamala Benival / HHAT AT
* Yashoda Devi / Igitar ¢dl
® Vasundara Devi / SHERT &4l

® Maya Singh/ T Rig



Correct Answer :-Yashoda Devi / g=NgI a4l

24)
Question Stimulus :-

Which of the wheat granary of India? / YRd #, 1§ & YsR & ¥ ¥ fHA w1 &1 8
?

® Punjab / GSITd
® Karnataka /m
« Bihar / f98R

® Uttar Pradesh / 33} m

Correct Answer :-Punjab / GSITd

25)

Question Stimulus :-

Select the nationality of Christopher Columbus from the following / frafafaa & 9 fre ey Sidaw &t
HERCIEIICUE K28

® American / 3MAN®Y
® Italian / SATAAl

® Portuguese / g?frn?ﬂ
® None of these /s:lﬁ 3 aﬁ's‘ T'Iﬁ

Correct Answer :-Italian / SdTeTal

26)
Question Stimulus :-

After which Indian was a stretch of Michigan Avenue in Chicago renamed? /

fRrer ¥ ffRrE o=y 9t e yRd F 9M W) 82
® Swami Vivekananda/ W fdd@Teig
® Amartya Sen / 3T I9
® Shah Rukh Khan / Q&M T

® Jhumpa Labhiri / gCIT ?I'I'I%ﬁ



Correct Answer :-Swami Vivekananda/ TaTHI fad®=g

27)

Question Stimulus :-

Who was the first woman DGP of a State in India? / YRd H T 9 Bt ugdt Afgan 'Q'm TR i1 off »
® Kiran Bedi / o a'a
® Prema Mukarji /9T 'ﬂ@“ﬁ
® Pratibha Rai /‘;Iﬁ'l-l'l' Mg
® Kanchan Chaudhary Bhattacharya /W ?ﬁﬂﬁ Q-IE'I?IT&

Correct Answer :-Kanchan Chaudhary Bhattacharya / g AeRY ‘-IE'I?ITCf

28)
Question Stimulus :-

The name of Pierre Cardin is associated with which of the following fields? / ﬁ'!ﬁ' aﬂ%—-'[ DT ATH ﬁ'ﬂ o ﬁ foa
a9 & 1Y Fafid 82

« Fashion Designing / %3 fewmgfar
e Stationery / ad - ar i
« Automobiles / Tf&qi

® Architecture / AP dl
Correct Answer :-Fashion Designing / H2F fwmsfam

29)
Question Stimulus :-

“The Boy Who Lived” is synonymous with which fictional character? / “'dg dg&l
oY Ygd 41 {59 wreufae s &1 yaia 82

« Harry Potter / &% Uic®

® Rust Cohle /I¥C ﬁ?ﬁ
® Joffrey / 11l

e Star Lord / ¥R ars



Correct Answer :-Harry Potter / 83 UicR

30)
Question Stimulus :-

Which state is called Gateway of South India? / &g =g 3| E'F&TUT HRA DpT Nca CIRSIGIH %?
® Karnataka / HAlCPH
® Andhra Pradesh / Gﬂm
® Tamil Nadu / df¥a-Tg
® Kerala / A

Correct Answer :-Tamil Nadu / AfHaATg

31)
Question Stimulus :-

The Golkonda fort is situated in which city? / MagsT fear feg e # fRa 82
Kochi / &Il

Bangalore / TR

Secunderabad / Ri$eR1ag

Hyderabad / 8R4I

Correct Answer :-Hyderabad / SRTEIE

32)
Question Stimulus :-
CANCELLED

Who among the following is authorised to declare elections of Lok Sabha / ffad P AP AU & ﬂﬂ'@ |

Yo S & e srf¥rpd 82
® YVice President / 3U- ?TgCIﬁl

® Supreme Court Judge / SdH ATATA & grard=r

® Home Minister / Tﬁﬁ
® Prime Minister / gUTHEA



Correct Answer :-Prime Minister / WUTTHAT

33)
Question Stimulus :-

Who among the following was NOT President of India? / fraffed A A P HRT & ?quﬁf T-Iﬁ I?
® Sarvepalli Radhakrishnan / gduett RTYTH T
® Fakhruddin Ali Ahmed / BESEI 3Cl 3AEHG
e Giani Zail Singh / I 9 g
® V.P.Singh / ar. dt. ﬁ’l’ﬁ'
Correct Answer :-V. P. Singh / di. W1, fig
34)

Question Stimulus :-

The Constitution of India does not mention the post of / fad g fPaug o
STE HRd & AfauT ¥ =181 82

® The Deputy Prime Minister / SURUTIHAT
® The Deputy Chairman of the Rajya Sabha / YIS HHT & IUTHE
® The Deputy Speaker of the State Legislative Assemblies / T faurrayTa & 3Iu gyTUfa
® The Deputy Speaker of the Lok Sabha / AH JHT & 3 FUTUfT
Correct Answer :-The Deputy Prime Minister / SUTUTTHAT
35)
Question Stimulus :-

CANCELLED

Who has been sworn-in as the new Chief Justice of the Chhattisgarh High Court? /WWW%WH@

JraTdEr & w0 58 oy fears 7§ e
e Justice Yatindra Singh / Wﬂﬁﬁq'cﬂr_&'ﬁ's'
e Justice Naveen Sinha / =aragfd 749 g1
e Justice Rajeev Gupta / mﬂﬁﬁﬂw



« Justice Jagdish Bhalla / Sfed ST YT
Correct Answer :-Justice Naveen Sinha / =Iragfd =di R

36)
Question Stimulus :-

The longest day (shortest night) in the southern hemisphere is: / Sferoft Mers & Jad war &9 ('\‘Iﬁ Bt d)

° July21 / 21 Jd@T§
December 22 / 22 ooy

® November 22 / 22 9d&R

June 21 / 21 S

Correct Answer :-December 22 / 22 feuwR

37)
Question Stimulus :-

“'Swaraj is my birth right., and I shall have it!” who said this statement?/ "¥aIsl
IRT T ARTE SUfUPR § 3R & 38 AFR [N I8 FY frad &2

e Chandra Shekhar Azad / 5 @R (TSI
e Raja Ram Mohan Roy / WWWT‘N
e Lokmanya Bal Gangadhar Tilak / AFH 91 TR foas
« Sardar Vallabbhai Patel / ¥RGR deaH HTg Ucd
Correct Answer :-Lokmanya Bal Gangadhar Tilak / AHA 91 TR foeas

38)
Question Stimulus :-

The country that shares longest border with India is ./ HRA & 1Y a9 Fa Jr TAT CEE IR

? 2
® China / iG]

* Bangladesh / SRETGRT



® Nepal / AU
® Pakistan / LIGESICH

Correct Answer :-Bangladesh / Si@TeT

39)
Question Stimulus :-

Headquarters of South-Central railways is located in ./ ﬁl"}l’ o ﬁ aﬁq ﬁ LIRES o E'EI'UT HY W ST BT
fRasg

® Bangalore/ AR

® Chennai/ aﬁ'&"

* Kochi/ BIf

® Secunderabad/ ﬁlma'l'd

Correct Answer :-Secunderabad/ R eTaEg

40)
Question Stimulus :-

In which among the following States did the Alwar saints originate? / Frafafad gl § 9 fead sreaw ddi &1
3IRY g3MT?

e Rajasthan / TSI

® Maharashtra / HEIRTY
e Karnataka / Hlch

® Tamil Nadu / ?lﬁl?Fﬂg

Correct Answer :-Tamil Nadu / AfH@Tg

41)
Question Stimulus :-

In whose name did India launch its first Satellite? / HRd ¥ 31T Ugdl 3UUg foad A A uaﬁa fear
® Bhaskara I/ HT¥h 1

® Bhaskara II/ HIEH 11



® Aryabhatta/ 3 HS

® Albert Einstein/ 3[¢dc 3"3@7'[
Correct Answer :-Aryabhatta/ 3T Yg
42)

Question Stimulus :-

is the most popular festival in Kerala. / BT PT IR dsI ?\‘ﬁ?‘l? %I
e Diwali / feareit
® Onam / 3N
® Boat Festival / APl IHa

® Makaravilakku / THRTdATH

Correct Answer :-Onam / 30H

43)
Question Stimulus :-

On whose life is the documentary Yes, Madam Sir based? / ¥, #sH W f&a® siad & guf
TR 3TuTid 8?2

e Indira Gandhi / Zfe=T Wieh

e Kiran Bedi / fapur )

® Sushma Swaraj / JUHT RS

e Priyanka Chopra / fUd®T SiusT
Correct Answer :-Kiran Bedi / f&=ur 9t
44)

Question Stimulus :-

Who is the Chairman of the Airports Authority of India? / @ # g T&R UId YR 3w Sfewm &
el ue R 5w fFgaa farar mar 32

® Guruprasad Mohapatra / Wtﬁ?ﬂﬁT
e Capt. Gopinath / ¥4 MIHY



e Jayant Sinha / 4dd R¥gr

e Ashok Raju / 3/RN® IS
Correct Answer :-Guruprasad Mohapatra / TSUIIG HIGUET
45)

Question Stimulus :-

Which was the first foreign army to participate in India’s Republic Day parade? / HIRd & UG A feaw ot W

# Tfire g arelt gt fadsht 1 o di
e British / fafew
e German / wHq
® French/%d
e Russian / &4l
Correct Answer :-French / %d
46)

Question Stimulus :-

The headquarters of World Health Organisation is in / ﬁ"ﬂ' WY SS9 BT HBITera % ----------------

® Geneva, Switzerland / ﬁlﬁm, %‘qmﬁr«;

® New York, United States / qu‘ﬁ%, 1]31?{%3' W

® Paris, France / ﬁﬁv, i

® Washington, D.C., United States / arfRitreqd ﬁ?ﬁ, 'QFI'I?;%E' Q%'(.{'\q
Correct Answer :-Geneva, Switzerland / o, m
47)

Question Stimulus :-

When is ‘World Cancer Day’ observed? / fay FI fegw (World Cancer Day) ®d
AT ST 82

« 10thMay / 10#S



e 4th February / 4 Ba3d

« 7th Japuary / 7 SFad

« 23" April / 23 309
Correct Answer :-4th February / 4 BIa3t
48)

Question Stimulus :-

River that makes a boundary between Madhya Pradesh and Uttar Pradesh is /

T} o AT YW 3R IW W & o Hiwr &1 FuRor st g
e Jamni / SHAL
® Chambal / TFd
® Betwa/ dddl
* Gambhir / TR
Correct Answer :-Jamni / STHAI
49)

Question Stimulus :-

Which are among the more important of the minerals of Madhya Pradesh? / faddaa H%QT &1 3HftP

Hgaqul Wfrel S I1 82
® Zinc and manganese / ST 3R AT
® Mica and coal / IYD 3 Hrger
® Silver and copper / ?I'IE& 3R draT

e Coal and iron / ST 3R FﬁBT
Correct Answer :-Coal and iron / g 3T ?ﬁ'e!T

50)
Question Stimulus :-

Which of the following is the smallest district of Madhya Pradesh in terms of geographical area? / H& Q%QT G|

98 9 WiMfere &3 &1 foran i 91 82



Datia / gferar
Jabalpur / SEAR
Morena / §_T
Indore / Eiﬁ'x’

Correct Answer :-Datia / gfaar

51)
Question Stimulus :-

Which of the following numbers will not have 6 in their unit’s place? / ffada P9 A FEna # 39 WI_Q;
R W 6 75! gh?

o 2447

o 2497

* 26

* 13447
Correct Answer :-249?
52)
Question Stimulus :-
Find the cube root of 0.027 / 0.027 DI U7 ﬁﬁﬂﬁlﬁ

* (.03

* 03

* 0.003

* 3.0

Correct Answer :-0.3

53)
Question Stimulus :-

CANCELLED



Area of a rectangular window is 420 sq ft. One half of the window has 1cm? grill, while
the other half has 3 cm griII Then the ratlo of the number of grills in the window is

TS AAAIPR fGSH T &a%d 420 T Bie §. WD & T g =
%ﬁsﬁtﬂaﬁﬁW%WWaﬂﬁ%ﬁﬁsﬁtﬁaﬁﬁW% ot fas®t | wferal @t T &1 U

e 3:1

e 1:3

e 2:3

© 3:2
Correct Answer :-3: 1
54)

Question Stimulus :-

CANCELLED

A knitting wool sample card has 4red,1 black,2 pink and 5 blue samples. If one samplg is
picked at random what is the probability that it is pink? / T& g4 aTell St & Jd H1s A
49rd, 1 o1a, 3R 5 Hid Jwad | gl e Awd w1 I/ S @ wikear w1 § & 98 qant 82

1
3

1
4

ol

=] b

1
Correct Answer :-°
55)
Question Stimulus :-
When a dice is thrown, find the probability of getting a nhumber not greater

than 4. / 99 U% U & T Sral €, df 39 =11 & Aaq &1 uilkiedr o1 sit 4 9 a8t 7 81

Ll | kA



| = o e B3|

0l | b3

Correct Answer :-

56)
Question Stimulus :-

The most appropriate equaltion to solve for ‘X’ is / ‘X’ P 8d P4 & ford Gad
SUgT THHT 3

o 3x+2x+(x+29%) + (3x+9%
o 7x +38"=180"
° 7x=322"
o 7x=398"
Correct Answer :-7x = 322"
57)

Question Stimulus :-

The graph shows forecast of the temperature and the actual temperature of a city on ten
days. The maximum deviation of actual temperature from the forecast is

/ % ATIHH $T Yaga @ § SR R &1 g¥ fel o1 arafasd arua fearmar 31 gdga@ 9§ aafas®
I F1 Siftrean faaad 8-



Correct Answer :-2°¢

58)
Question Stimulus :-

Sales of bags

E B
& B

ags sold

EE

Humbnr of b
- B 5B Z

—

The double bar graph shows the humber of bags sold by two stores A and B during four

months. In the month of the sales was equal in both stores / 38 UTE I
Aaﬁvzgm4nﬁ=ﬁ'%ﬁ?ﬂa%nﬂ%1ﬁaﬁ¥i@1ﬁ@m%| & W ¥ SHY g Bt faent
RISR YT

® May/ 'Fl_st
® July/ g?n'é
® August / ¥

® June /S

Correct Answer :-August / 3Tl

59)



Question Stimulus :-

How many square pieces can be cut from a metal sheet of length 4m and breadth 2.5m if the side of the square

piece is 25 em. / U@ 4 W} &arg 3R 2.5} We13 arelt urg $t e A fpaa aif F cps w12 & GHd &
gfe atf & gps $ Yo 25 A 21

® 480

® 160

® 400

* 120
Correct Answer :-160
60)

Question Stimulus :-

To solve situations that are inversely proportional, we use the relation / Wﬂ'ﬁﬂ gRfRufeat &t ga
o1 & o, 59 39 9y ST YN o4 3

® a:b:c:d
® ab::d:c
® ab: b:a
® a:c:: b:d
Correct Answer :-a:b:: d:c

61)

Question Stimulus :-

Radioactivity was discovered by / fSaRfsaar @1 @i e #12
« Madam Curie / ASH &3t
e Pierre Curie / ﬁ'fﬁfw
e Henri Becquerel / %ﬂﬂaﬁﬂgﬂ
« Rutherford / I&BIS

Correct Answer :-Henri Becquerel / 8131 98Rd

62)



Question Stimulus :-

Among the following examples, which one is not considered as Matter. / e BEI?TUﬁ H ﬁ, f5d s T-Ié’f HTAT
SITdT |

® Rubber / YAX

® Nitrogen / q'l?zaTrFf
® Heat / HCHI
e L.P.G. / Ta.W.SH

Correct Answer :-Heat / $&UHT

63)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% IR udl & ¥ &9 A1 12 33 T U & UHeH IHH 1 82

Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(i) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(ii) Woods, Greg/Hefinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(iii) Woods, Greg/Heflinger, Joan



613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(iv) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

® iii
* iy

Correct Answer :-ii

64)

Question Stimulus :-

The far point of a myopic person is 1.00 m in front of the eye. The focal [ength of the lens
required to correct the problem is / T% 3igiexil aafad &1 gx fdg 1.00 Her i@ & A 81 Tu=n
B R A P Y fbaa wioa da8 & o9 S smagdar gRit

¢ -1.25 m/-1.254
® .0.80m / -0.80Hl
® -1.00m / -1.00Hl
® +1.00m / +1.00%}

Correct Answer :--1.00m / - 1.00 {t

65)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 IR dl & A 99 91 t& I A T4 ud & TpeH A ) 82



Monoco Canoe Club

c/o Kennedy

861 Colts Neck

Freehold, New Jersey 07728

(i)

(i)

(iii)

(iv)

Monoco Canoe Club
c/o Kennedy
861 Colts Neck

Freehold, New Jersey 07728

Monoco Canoe Club
c/o Kennedy
861 Colts Neck

Freehold, New Jersey 07728

Monoco Canoe Club
c/o Kennedy
861 Colts Neck

Freehold, New Jersey 07728

Monoco Canoe Club
c/o Kennedy
861 Clots Neck

Freehold, New Jersey 07728

ii
iii

iv



Correct Answer :-iv

66)
Question Stimulus :-

Which of the following is correct with regard to friction? / g & A gdur & Geof A 9 91 9

g2

e Rolling friction > Sliding friction > Static friction / a& adur > adf
gy > ?%I?Iﬂ-? gy

* Rolling friction > Static friction > Sliding friction / d& Tt >
wifd® Tvor > quf gyor

e Sliding friction > Static friction > Rolling friction / udf gdur >
Wifaw gdur > e Taefor

e Static friction > Sliding friction > Rolling friction / Rfa® T >
qdf Tyur > See gyr

Correct Answer :-Static friction > Sliding friction > Rolling friction / @fi®
Yo > quf gfor > se@= Ty

67)
Question Stimulus :-

Which of the following is the mirror image of ADRIFT? / g & ¥ F9 1 ADRIFT &7 gdur ufafars 82

TIIAgA

TIAJA

o TII90A
TLIAQA

TIAdA

Correct Answer :-

68)
Question Stimulus :-

Find the selling price if its marked price is Rs.200 and rate of discount is 8%? / afe sifeda Hea FTUY 200 % Td QcC
DI a8 % ¢ o fapa gea gra Fiforg|



° 164
e 184
° 134
° 124

Correct Answer :-184

69)

Question Stimulus :-

Which method is commonly used by farmers to separate lighter husk particles from heavier seeds of

?ﬁ@%/gﬁm%aﬁ‘fﬁ@%WW@qwmﬁ%WWwﬁmﬁmﬁﬂ;ﬁﬁfﬁm

e Winnowing / UcC®hHl

® Threshing / TTgT

e Decanting / fAYRAT

® Sieving / BT
Correct Answer :-Winnowing / Uc®h-l
70)

Question Stimulus :-

Find the next term in the series 2,7,14,23, /9@ar ¥ SFTAT UG [ PIoIS 2,7,14,23,
o 28
° 34
e 31
e 38
Correct Answer :-34
71)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word



will be: / T 7% ¥, UgQ Wsg FT g g & 1Y 5 7R A $15 Wy 31 9 AR I ST I8 F
Yy I UHR FHT AGY AT T1RY, f AT Ieq T

Nokia : Handset :: Reebok : ? / Tfba : %@E ;9w ;2
® Shoes / \_rjﬁ
® Books / fopard
® Reader / UTd®H
® Watches / ‘ar%'qf
Correct Answer :-Shoes / S[d
72)
Question Stimulus :-

Find out the wrong term / Ield Uq JTd ﬂﬂﬁt{

2,4,7,12,16,22,29

° 4

° 16

° 12

° 29
Correct Answer :-12
73)

Question Stimulus :-

In how many ways can we select 2 numbers out of 100 numbers? / 100 @13 # § fopaq yepR ﬁstr 2 TSt
BT TG B TP 9?2

® 5050
® 5000
® 4950

® 4900

Correct Answer :-4950



74)
Question Stimulus :-

Petrol and Diesel can be obtained from / ﬂa?r 3R Siora I Ut %({ ST 9P d %

® Crude Oil / HT dd

* Coal tar / AR®IA

® Coal gas/ﬂﬁ'ﬂ?ﬂ 'ﬁﬂ

® Coal /ﬁw
Correct Answer :-Crude Oil / &l dd
75)

Question Stimulus :-

Question is based on an encryption system in which: / U¥ U&% TRPUE UUITell UR MR 8
foraH:

(1) 'Buy Good Oranges’ is coded as ‘BDG’ / '‘Buy Good Oranges’ $1 '‘BDG’ ¥ Pifsd far sirar %

(2) 'Distribute Good Oranges’ is coded as '‘BCD’ / 'Distribute Good Oranges’ %1 '‘BCD’ I
Fifed fHar srar 3

(3) ‘Oranges Are Red’ is coded as ‘BEF’; then / ‘Oranges Are Red’ &1 ‘BEF’ & ®ifsd far simar

What is the code for ‘Distribute’? / ‘Distribute’ & folg =T ®Is 82

e C
Correct Answer :-C

76)

Question Stimulus :-

Prahlad travels 7 km towards the east, then turns right and travels 7 km, then travels 15 km towards the left, then
goes 12 km towards the left again and finally goes 5 km towards the north. How far is he from his original place in

the horizontal direction? / WgdTG GRd @I 3R 7fHft amm wwar 8, 6 gr& gear 8 ok bz 7 foeft amn



Fdl g, e arff 3R 15! aram wear 8, R Qe ardt 3R 12 f+t Sirar @ 3R ofd & IR & 8k
5Tt SraT 81 a7 Sfs fozm # o 4@ w9 fpa-it g7 82

® 24Kkm

® 8km

® 22 km

® 17 km
Correct Answer :-22 km
77)

Question Stimulus :-

Uniforms of firemen are made of fire—proof Plastic coated with / BTARAT &t ?I:ﬂ'q'flﬁ ST P WIRCD
Pl TP 915 WIldl &

® Teflon / %Cﬁl\'ll:l
e pv.c/UratH.

° Melamine/ﬁ?lTFl'IET-T
« Bake lite / d%arse

Correct Answer :-Melamine / HETATSH

78)
Question Stimulus :-

Mehak ranks seventh from the top and 28th from the bottom in a class. How many students
are there in the class? / A&® &1 # SR A Hiqd VI W ¢ R 14 & 289 W W 81 Han 7 fba
BT 82

e 34
e 35
e 36
e 37
Correct Answer :-34

79)



Question Stimulus :-

The cell wall in fungi is mainly made of | Pad T BT fufr HEd: ¥ g1 gidt %

® Cellulose / '\aﬂ?h'\q
e Chitin / ®Tgfe
® Mucin / TR
° Glycogen/"?l'l?ﬁﬁﬂ‘l
Correct Answer :-Chitin / BTgie

80)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below:
/ 9% fawen ga ot ab 31 =R A R A T vy & 99 @

No one who arrives after 8 p.m. will be admitted. All my family arrived together at 8:15

p.m. / I3 Wt FAfeT S 8 91 & T1¢ AN SIS &1 forar SR AT [T URGR 914 H 8:15 T 3Tl
e All of my family was admitted. / A¥ Q¥ UNRAR & gIiEa &= foram |
e Some of my family was admitted. / AY Uf¥AR & PO e TAd P ford T |
® None of my family was admitted. / A URaR I I3 i e 181 favar mar|
® None of the above / SURNT Bl ol
Correct Answer :-None of my family was admitted. / AR U¥aR & &g H eriae =81 forar mar

81)
Question Stimulus :-

Select the option, which is the logical equivalent of the given statement:/ 38 fa®er g=a &t
% B =} I = R M vy F w9

If it is hot, then we buy an air-conditioner / af¢ 7Hf 8, df 89 TR $SITR Wied &
® [If it is not hot, then we don’t buy an air-conditioner /‘Tﬁ' TITﬁT-Iﬁ %, a BH T HSIRR qﬁ Eﬂﬂ% %
® If we don’t buy an air-conditioner, then it is not hot / '!T% BH TIR HSITR q?f m %, a mﬁqﬁr %
® Ifitis cold, then we buy an air-conditioner / gfe 38 %, ar BH T HSIIR WIgd %
® If we buy an air-conditioner, then it is hot / gfe g TR HSITFR Wed %, a TI'Fﬁ%



Correct Answer :-If we don’t buy an air-conditioner, then it is not hot / gfe gH TR HSITFR A8l Tied
g, at T e 3

82)
Question Stimulus :-

Name the structure that is a part of the skeletal system but are not bones / 3 JIAAT BT ATH a?n?;& Ell

ST o BT e 3 Wy Biyal 8 §
® Teeth/ gl
® Hairs / dTdl
® Nails / TG
® Hooves / ©X
Correct Answer :-Teeth / &d
83)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d§ &Y Elﬁ'ﬁ S|
faa T $y=Y vd el & TR # 98 8:

Statements: / ®YH:
All caps are hats. / 9 adt 8¢ 21
No hatis a pen. / Hﬁ'&"‘ﬁ%&’ﬁﬁ?l

Conclusions: / fArep:
I. No cap is a pen. / I. ®Is Wt Aft Haw a8 81
II. Some hats are caps / II. $9 %E ﬁﬂﬁ%'l

® Only conclusion | follows / W ﬁwﬁf | ﬁlﬁ?ﬂ %
® Only conclusion Il follows / W ﬁWﬁf | ﬁlﬁ?ﬂ %
® Neither I nor Il follows / T d¥ | 3R =8 n Freaar %
® Both I and Il follow / 11 | 3R 1l Fward §

Correct Answer :-Both | and Il follow / G141 | 3R 1l fPed &



84)

Question Stimulus :-

In the sequence shown below, which figure comes next? / R fewrd T w9 A srTett Wﬁ Cap k|
g2

ol lo OeO ol 1o
000 L Jol L el
000 000 o] 1/
o] 1o
L Jo]
00
000
o 1o
000
o] 1@
Q0O
00
o] l@
ol 19
000
o] 1o
L Jol
OO

Correct Answer :-
85)

Question Stimulus :-

Eight Thirteen of 65 how much more than Six Fifth of 20? / 65 ®T 318 A¥gdl, 20 ¥ ©g UTdad | fHar e
32



® 16

°* 18

® 20

® 25
Correct Answer :-16
86)

Question Stimulus :-

What happens to milk during the formation of curd? / Eﬁ & fEtn & aTI_"T [ CARG )| aﬂT %?
® Coagulation of milk protein and formation of sugar / g¥ W BT 519 3R Th=T @1 fAmtor

® PH increases and alcohol is produced /Tﬂ@ de SITdTl % 3R Wﬁﬁ CARCIRG] 3-1_?" %I

® PH decreases; sugar is converted to lactic acid /Tﬂ'lﬁl' L RNIGH % 3R RIS o | ufvafdd g
T 3l

e Complete Oxidation of sugar into carbon di oxide and water/ CaCL]

STIATHITSS 3R oA H XIHRT BT Ui SATRIDROT |

Correct Answer :-PH decreases; sugar is converted to lactic acid / tﬂ@ LERUIGH % 3R IR
3wt # ufvafda gt st 31

87)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ Y Elﬁ'ﬁ St
3 T $y=Y vd el & IR # 98 8:

Statements: / ®YH:

Some cows are animals. / $9 T SHdR gl
Some animals are monkeys. / $9 SHdY E[+34 %'I
Conclusions: / fssd:

I. All monkeys are cows. / I. 93} 9&3 T 2|

II. No animal is a cow / II. g il SHaR T &1 &
® Only conclusion I follows / $ad f~rswY | fArwedr &
® Only conclusion Il follows / e frewt 11 fpaars



® Either I or Il follows / 9T Y 1 IT o= 1 fFrpear &
® Neither I nor Il follows / T @l | IR A& 1 FPpadr g

Correct Answer :-Neither I nor Il follows / Tl | GﬁTqﬁ n frreaarg
88)

Question Stimulus :-
In 1985, the profit for a certain product was 25%. In the next 3 years, the cost price increases by 10%,
10%, and 20%; also the sales price increases by 15%, 10%, and 20%. What is the profit percentage now?
/1985 ¥, T fAfda Iaurg & forw @ty 25% <t 3rTa 3 9uf # @RTT Yo 10%, 10% TH 20% | §¢ el ©;
fara e Wt 15%, 10% TE 20% | §¢ ST€T 81 a1H $T Ufa=ra 3id o7 872

® 27.3%

® 30.7%

® 32.4%

® 35.7%
Correct Answer :-30.7%
89)

Question Stimulus :-

S is the sister of M and T is M’s son. R is a doctor employed abroad. Which of the following statements is/are correct? /

S, M P1 984 § 3R T, M &1 deT 2|
o &3 o9 A Y9 99 82

R is the father of T. / R, T & fUdr %I
® Definitely true. / fAfira é’f qJdI
® Definitely not true. / FRIf3a 8 9@ 8151
® They are certainly blood relatives. / 3 fafya é’f - > ﬁ'!laa'l'\' %'I
® Cannot infer from the given data. / ﬁ'& T BT A SIJHTH 7-|€f A FDhd |

Correct Answer :-Cannot infer from the given data. / f33 T sTeT @ A T8I O P |

90)
Question Stimulus :-

Fill in the missing alphabets / &I &R Q-Iﬁ'q



ab_abb_ba b

® a,aab

® ab,ab

® b,a,a,a

® b,a,b,a
Correct Answer :-a,a, a, b
91)

Question Stimulus :-

The ratio of savings of P,Q and R are in the ratio of 4:2:3 and the savings Q is
Rs.250 more than that of P. What is the savings of R? /P, Q Ud R & §dd T 3Urd
4:2:38 Ud Q D1 9Id P & TId W 250 o AfYP 1 R BT IId T 82

® 400

® 275

* 300

® 375
Correct Answer :-375
92)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y+ ﬂ'ﬁ'& <
3 T $y=Y vd el & IR | 98 8:

Statements: / ®Y:
All baskets are balls. / I 9if&pe 72 g1
All balls are bats. / 94t 12 et 21

Conclusions: / fAwpd:
1.All baskets are bats. / I. 93! 91f%pc I 21
2.All bats are baskets / II. 94 9oaf SIf¥pc &l



e Only conclusion I follows / Bad e | fFpaar g
® Only conclusion Il follow / *qd frspd || Fpadr g
e Either I or Il follows / aT Y fosat | a1 fRR forsee 1 Frpaar @

® Neither I nor Il follows / T dY fored | 3R 9 €1 forepd || FrpeaT @
Correct Answer :-0Only conclusion | follows / pad frsed | fFreadr %

93)

Question Stimulus :-
P+QmeansPisthebrotheron/P+Q$[HT'I?W%P,Q3‘7”'"§%

P = Q meansPis thewifeof Q /P =Q WW%P,QHQW%

P % Q means P is the mother of Q / P % Q &1 Hddd & P, Q ! HET &
P @ Q meansPisthesisterof Q /P @ Q ?:FTIIW%P,QHﬁTFT%

P # Q meansPisthefatherof Q /P # Q ®THAAS g P, Q & fuar &

If A =B + C % D then, which of the following will be always true? / tlﬁ' A=B+C%D ?ﬁ', ﬁ";'[ = | CacH J Eﬁ'Q'IT qad

U

DissonofC / D,CTﬂaET%
L AismotherofD/A,Dﬂ*ﬁ'FlﬁT%

B is maternal uncle of D / B, D & HTHT @

A is brother-in-law of C / A, C &I a?R' %
Correct Answer :-B is maternal uncleof D / B, D %'FITFIT%'
94)

Question Stimulus :-

The average of four consecutive odd numbers is 54. The largest of these number is: / 4R

PHHTTA faun @ #1 3iud 54 g1 57d 4 I g1 61T 8
° 67
e 77

* 57



° 47
Correct Answer :-57
95)

Question Stimulus :-

4% of 900 is / 900 BT 4% B:
® 46
® 36
® 56
® 66
Correct Answer :-36
96)

Question Stimulus :-

At present, the ratio between the ages of Jegan and Bala is 4 : 5. After 8 years, Jegan’s age will be 28
years. What is the age of Bala at present?/ o |, R 3R 91T B 31 & S &1 SqUId 4:5 218
qul a1e, forT @1 3y 28 9 gt st | au & aran ot oy fhaet 32

e 20 years / 20 a4
e 25 years / 25 GL
« 30 years / 30 ¥
e 35 years / 35 GL
Correct Answer :-25 years / 25 CL]

97)
Question Stimulus :-

CANCELLED

Rahul told Bunty that Sunny is his father’s nephew, Deepu is Rahul’s cousin, but not brother of Sunny. How is Deepu

relatedtoSunny?/%ﬁﬁ@ﬁﬁﬁ;wmmmmamﬂgﬁmmlﬂgﬁ,mwm
H1$ 7Y B1 g Tt @ F ddlta 22

e Father / fOdr



® Mother / HIdT
e Sister / dgHd
e Aunt/ 3id}

Correct Answer :-Sister / 989

98)
Question Stimulus :-

What is the time taken by a train of length 200 m to cross a bridge of length 250 m, running at a speed of

45 m/s? / 45 He/AHUS B 1fa A S aTell TP 200 Hier ddt YeMSt Y 250 Hiew d@¢ 7@ HI IR
&Y A faar 9wy Tm?

* 10 sec / 10 AHUS
o 15sec / 159DUS
* 20 sec / 2094HUS
e 25sec/ 25qBUS

Correct Answer :-10sec /10 AHUE

99)
Question Stimulus :-

Father is four times as old as his son. Four years hence, the sum of their ages will be 43 years. The ages of the son
and the father are respectively:/ e &t 3 ISP as% &I S B IR BIGI %I IS IR AT qT¢, IAD! S
&1 AT 43 9 B | SHHRT: FaT ok ds® ot 3y 3:

e 7 and 28 years/ 7 3} 28 q9
e 5and 27 years/5 3R 27 af
3 and 26 years/ 3 3R 26 94
® None of the above/ IUYT A A HIS Tl

Correct Answer :-7 and 28 years/ 7 3R 28 a¢

100)
Question Stimulus :-

4/3t of 42 is / 42 BT 4/3 ©:



° 46

® 56

® 36

® 66

Correct Answer :-56



